o F n
3 -
o 60 . r
e Input R0=54.9, Sig=3.0, kb=0.1 70000~
< B -
O r L
>0r 60000
40~ 50000
30 40000
- 30000F—
20|~ C
© 20000
10_— C
C 10000F
o C
_IIIIIIIIIIIIIIIIIIIIIIII|IIII|IIII|IIIIIIIII|I _IIIIIIIIIIIIII|I IIIIIIIIIII
0 10 20 30 40 50 60 70 80 90 % 30 40 50 60 70 80
WET (mm) RO
4000 ] -
C 3 i
: . : 5000~
: 3500 : C
C ! r
C > -
30001~ 1 4000}~
2500 C
3000~
2000f C
1500 2000
1000} C
[ 1000}~
500 .
O:IIIIIIIII|I IIIIIIII|IIIIIIIIIlIIIIlIIIIIIIII o_lllllll III|IIII|IIII|IIIIIIII
o 1 2 3 4 5 6 7 8 9 10 0 005 01 015 02 025 03

sigma kb



	Contents
	Page 1


